8 6 4 3 2 1
———1.224 [31.09]—
///ﬂ_\
|; [ [
Ay N
/ /_ \ \ 2X C'BORED FOR
: fﬁ\ TN = ‘ M6 S.H.C.S.
™ ol
2AO)E
L A
\ p
NI L
I i i L
T T IT T
1 1 mt_/rl rV 1
M6-1x20mm LG.
_ S.H.C.S. GRADE 8
i — (2) SUPPLIED
//
! |
2.073 [52.66]
SPHERICAL ‘ 2.188 [55.58]
CENTER ;
\
\
| 3 bl |
+ a@@&@uﬂ%@rw
| R8-S
T
@1.729 [43.92]
REV] DESCRIPTION DATE DWN CHK
REVISIONS
M10x1.5 - 6H THRU MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. | DESCRIPTION
UNLESS OTHERWISE SPECIFIED AD&D SPHERICAL PRODUCTS
TAN T N
e o B e E POP-LINK™ / BASE
et o e
TOTAL(??SEMSB;ED VT 4 PLACE DEC. + 0005 |2HEET SIZE | D spproves —— bate
5. 2.0 0Z5. T | No. OF SHEETS PART No.
ANGLES £ 17 |SHEET o, PL-BASE
6 4 3 I 2 I 1

8



1.100 [27.94] 1.729 [43.92]

M6-1x20mm LG.

—— p— S.H.C.S. GRADE 8
(____ -——-/ﬁ (4) SUPPLIED
A '__7I .
\ /

Pat No. 935390¢ ______

EIN THEUS.A

1.750 [44.45]
r.674 [17.11]W

/ e i\
andD.comy A\ -
| | i -
AN ﬁ// - E=
4 <
L——2a &
\ / \
4 -——
at R
REV] DESCRIPTION DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION
UNLESS OTHERWISE SPECIFIED AD&D SPHERICAL PRODUCTS
oS IR isE A POP-LINK™ / KNUCKLE
2 PLACE DEC. + .03
. DRAWND.BIDDINGERDATE 3/31/17
TOTAL ASSEMBLED WEIGHT 3 PLACE DEC. + .005 ggég ;UZLEL D CHECKED _____ DATE
0 Ibs. 4.2 ozs. 4 PLACE DEC. + 0005 APPROVED_____ DATE
~ |Ne.orsheErs _ PART No.
ANGLES £ 17 [SHEET No. PL-KNK

8 7 6 5 4& 4 3 { 2 { 1




3X C'BORE FOR 6MM SHCS

@.9595 [24.37]

1.875 [47.63]

e————1.500 [38.10] —

TN
7

=
\e]
o
S T
= 1
(o))
< F—
s

F__

i
}___

@1.970 [@50.04]

HeABLIAB-.S
AR EHY VI HOAN

X Moo.lbnstA 2
. =

DESCRIPTION DATE DWN CHK

REVISIONS

MATERIAL:

PATENT PENDING

BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No.
UNLESS OTHERWISE SPECIFIED

ADandD.com

STANDARD TOLERANCE

UNLESS OTHERWISE SPECIFIED

DESCRIPTION

PL-BALLBASE

2 PLACE DEC. + .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
3 PLACE DEC. + 005 CHECKED DATE
4 PLACE DEC. # .0005 ?H(I;:FE;EETSS‘ZE D éi’;?rovNEgi DATE
0. .
ANGLES £ 17 [SHEET No. PL-BALLBASE
6 I 2 I 1




3.441 [87.41]
3.066 [77.89]

@.960 [@24.37]

\ I
[Tp}
0
s
o
(ol
M8-1.5x16mm LG.
S.H.C.S. GRADE 8
(1) SUPPLIED
v N
L
me—— )
+ | |
|
REV| DESCRIPTICN DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION
UNLESS OTHERWISE SPECIFIED AD&D SPHERICAL PRODUCTS
STANDARD TOLERANCE
Uhﬁggs OTHERWISE spgémgo POP-LINK™ / STANDARD BRACKET POST
2 PLACE DEC. + .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
3 PLACE DEC. + 005 CHECKED DATE
TOTAL ASSEMBLED WEIGHT SHEET SIZE | D SHESED S DATE
0lbs. 2.2 ozs. 4 PLACE DEC. * 0005 No. OF SHEETS PART No
ANGLES £ 17 |SHEET No. " PL-SPOST-BK

8 \ 7 6 5 4& 4 3 ‘ 2 ‘ 1



@.9595 [24.37]\/

497 [12.61]0

M10x1.5 THD HEX JAM NUT
18-8 STAINLESS STEEL (1) SUPPLIED

N i
o

PL-SPOST-THD :
US Pat No. 9353906 R _ =,
MADE IN THE U.S.A. 0
ADandD.com 3

T

M10x1.5 - 6g

—.916 [23.27]—
3.125 [79.38]
3.500 [88.90]
REV| DESCRIPTION DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION
UNLESS OTHERWISE SPECIFIED AD&D SPHERICAL PRODUCTS
TAN T N -
SUNfESEéigRW‘Sngpﬁélp‘gDE POP-LINK™/ STANDARD THREADED POST
2 PLACE DEC. + .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
TOTAL ASSEMBLED WEIGHT 3 PLACE DEC. + 005 SUEET SIZE ‘D CHECKED DATE __
0 lbs. 1.75 ozs. 4 PLACE DEC. % .0005 Qo SZEF'{FOVI\IEoDi T
ANGLES £ 1" |SHEET No. "PL-SPOST-THD
8 7 6 5 4 I 2 I 1




)

k

M10x1.5 THD HEX JAM NUT
18-8 STAINLESS (1) SUPPLIED

?.9590 [$24.36]

@.605 [@15.37]

PL-SPOSTEXTSIN-THD

MADE IN THE U.S.A ] B
ADandD.COM

\_/

4.874 [123.80]
5.304 [134.72]

REV| DESCRIPTION DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION
UNLESS OTHERWISE SPECIFIED
STANDARD TOLERANCE PL'SPOSTEXTSIN'THD
UNLESS OTHERWISE SPECIFIED
2 PLACE DEC. + .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
3 PLACE DEC. + 005 CHECKED DATE
4 PLACE DEC. # .0005 |>HEtl SIZE | D spproves —— oate
.| No. OF SHEETS PART No.
ANGLES + 1 SHEET No. PL-SPOSTEXT5IN-THD

(o)}
wu
>
N
w

N 2 N 1



?.9590 [$24.36]

?.605 [$15.37]

729 [18.52]

PL-SPOSTEXTSIN-BK

MADE IN THE US.A.
ADandD.com

5.330 [135.37]

5.759 [146.29]

M8-1.5x16mm LG.
S.H.C.S. GRADE 8
(1) SUPPLIED

REV| DESCRIPTION DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION

UNLESS OTHERWISE SPECIFIED

STANDARD TOLERANCE PL'SPOSTEXTSIN'BK
UNLESS OTHERWISE SPECIFIED
2 PLACE DEC. + .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
3 PLACE DEC. + 005 CHECKED DATE
4 PLACE DEC. # .0005 |>HEtl SIZE | D spproves —— oate
.| No. OF SHEETS PART No.
ANGLES + 1 SHEET No. PL-SPOSTEXT5IN-BK
7 5 4& { 2 { 1




?.9590 [$24.36]

@.605 [$15.37]

PL-SPOSTEXT7IN-BK
US Pat No. 9353906
MADE IN THE U.S.A.

ADandD.com

/
N,

—
N
N
©
)
=
o)
N
™

e

7.330 [186.18]

7.760 [197.09]

M8-1.5x16mm LG.
S.H.C.S. GRADE 8

(1) SUPPLIED

+

REV| DESCRIPTION DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION

UNLESS OTHERWISE SPECIFIED

STANDARD TOLERANCE

UNLESS OTHERWISE SPECIFIED

PL-SPOSTEXT7IN-BK

2 PLACE DEC. + .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
3 PLACE DEC. + 005 CHECKED DATE
4 PLACE DEC. # .0005 |>HEtl SIZE | D spproves —— oate
.| No. OF SHEETS PART No.
ANGLES + 1 SHEET No. PL-SPOSTEXT7IN-BK
7 { 2 { 1




N

A

M10x1.5 THD HEX JAM NUT

= 18-8 STAINLESS (1) SUPPLIED
®.9590 [@24.36] o
=
LN
o
!
1)
PL-SPOSTEXT7IN-THD
| U _ o _ USPatNo.9353%06 = _
MADE IN THE U.S.A.
\ ADandD.com

6.874 [174.61]

7.297 [185.34]

REV| DESCRIPTION DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION
UNLESS OTHERWISE SPECIFIED
STANDARD TOLERANCE PL'SPOSTEXT7IN'THD
UNLESS OTHERWISE SPECIFIED
2 PLACE DEC. + .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
3 PLACE DEC. + 005 CHECKED DATE
4 PLACE DEC. # .0005 |>HEtl SIZE | D spproves —— oate
.| No. OF SHEETS PART No.
ANGLES + SHEET No. PL-SPOSTEXT7IN-THD

7 6 5 K 3 3 { — 3 { 1



M8-1.5x16mm LG.
S.H.C.S. GRADE 8
(1) SUPPLIED

1.42 [35.98] (APPROX WHEN RET.)
3.42 [86.78] (APPROX WHEN EXT.]

F
E
=

.740 [18.80]

1=} —
< —
13 ©
N ~
— i
o bt
S ~
=) o)
— < |
T
R ]
— T —— L
Il C
\M6-1x8mm LG. HALF DOG
(1) SUPPLIED
=8
i 7N
L I - B
i
5.355[136.02]
5.730 [145.54]
REV| DESCRIPTICN DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION
UNLESS OTHERWISE SPECIFIED
AD&D SPHERICAL PRODUCTS (A

STANDARD TOLERANCE

UNLESS OTHERWISE SPECIFIED

POP-LINK™ / 2" BRACKET END TELESCOPIC POST]

2 PLACE DEC. + .03 SCALE- FULL DRAWND.BIDDINGERDATE 3/31/17
TOTAL ASSEMBLED WEIGHT S PLACE DEC.  + .005 o rr oo IR — e ——
0 Ibs. 6.8 ozs. 4 PLACE DEC. % .0005 No. OF SHEETS PART No.  _ —
ANGLES + 17 [SHEET No. " PL-TPOST2IN-BK
8 4 3 { 2 { 1



8 5 €7 4 3 2 1
D
— 8 —
(<] < —
™~ Lo ©
~ N ~
i i
Py S ~
@.9595 [@24.37] ,_,O., ‘3 o
=
T | | 1 \ |
+ - ¥
1T
WMy C
M6-1x8mm LG. HALF DOG
18-8 STAINLESS S.H.S.S. 3.9595 [@24.37]
(1) SUPPLIED
-
5.730 [145.54]
5.355[136.02]
/_\ 5
| — 1
B e - 7*7*7*7*44"7 e e
REV| DESCRIPTICN DATE DWN CHK
1.46 [37.09] (APPROX WHEN RET.) REVISIONS
MATERIAL:
3.46 [87.89] (APPROX WHEN EXT.)
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION
UNLESS OTHERWISE SPECIFIED
o0 ORI speck AD&D SPHERICAL PRODUCTS |
UNLESS OTHERWISE SPECIFIED POP-LINK™ / 2" BALL END TELESCOPIC POST
2 PLACE DEC. + .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
TOTAL ASSEMBLED WEIGHT 3 PLACE DEC. + .005 SHEET SIZE ‘ D CHECKED ___ DATE __
0lbs. 6.75 ozs. 4 PLACE DEC. % .0005 No. OF SHEETS Iéi';sfovl\i?i SO
ANGLES £ 1 |SHEET No, " PL-TPOST2IN-BL
8 5 4& 4 3 ‘ 2 ‘ 1



M10x1.5 THD HEX JAM NUT
18-8 STAINLESS (1) SUPPLIED

N\

1
\M6-1X8mm LG. HALF DOG

18-8 STAINLESS S.H.S.S. M10x1.5 - 6
(1) SUPPLIED
5.730 [145.54]
5.355 [136.02]
1.113 [28.26]—
I _ || p-TrosTZNTID
-+ -—1—- R [ e e e <5, o 111 .
| ‘ADandD.com
1.87 [47.53] (APPROX WHEN RET.)
3.87 [98.33] (APPROX WHEN EXT.)
REV] DESCRIPTION DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION
UNLESS OTHERWISE SPECIFIED AD&D SPHERICAL PRODUCTS
SNDARD QRERANCE POP-LINK™ / 2" THREADED TELESCOPIC POST
2 PLACE DEC. + .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
TOTAL ASSEMBLED WEIGHT 5 PLACE DEC.  # .005 [210 0 ~~ D SHecKeD pate L
0 lbs 65 oz 4 PLACE DEC. + 0005 No. OF SHEETS éZPRRFO\{\IEoDi PAE ——
ANGLES £ 1 |SHEET No, PL-TPOST2IN-THD

8 7 6 5 4& 4 3 { 2 { 1




= g g
- i
% & 2
= 3 =
M8-1.5x16mm LG. NG S N
S.H.C.S. GRADE 8 - S
(1) SUPPLIED
U_L‘.LIJ
sns e r
1
| T — I 7]' > e )-:77 -1
NH ot |
J
“I"lf'l"
U
M6-1x8mm LG. HALF DOG
18-8 STAINLESS S.H.S.S.
(1) SUPPLIED ?.9595 [@24.37]
///—5 \ 7 /\
7NN ~ |
1, _ W F L e S WO _ i
\\\ /// BN A&\H A 1 7 i
SN=r - L

9.414 [239.13]
9.789 [248.65]

1.40 [35.64] (APPROX WHEN RET.)

7.40 [180.04] (APPROX WHEN EXT.)

REV| DESCRIPTION DATE DWN CHK

REVISIONS

MATERIAL:

ADandD.com
PATENT PENDING

BREAK ALL SHARP CORNERS

MARK DETAILS WITH PART No. DESCRIPTION

UNLESS OTHERWISE SPECIFIED AD&D SPHERICAL PRODUCTS

STANDARD TOLERANCE

UNLESS OTHERWISE SPECIFIED POP-LINK™ / 6" BRACKET END TELESCOPIC POST
2 PLACE DEC. + .05 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
3 PLACE DEC. + 005 H DATE ___
TOTAL ASSEMBLED WEIGHT SHEET SIZE | D spproves — baTe
4 PLACE DEC. + 0005 —
0lbs. 11.7 ozs. | No. OF SHEETS PART No.
ANGLES + 1 SHEET No. PL-TPOST6IN-BK

8 \ 7 6 5 4& 4 3 ‘ 2 ‘ 1



5 4 3 1
D
) |
e T o
~ w0 =
2 g o
@.9595 [24.37] s =
A
@.9595 [@24.37]
C
i
]
_ _ | \ _ - e N J
= -
- e
I|f11||
) U
\ M6-1x8mm LG. HALF DOG 4
18-8 STAINLESS S.H.S.S.
(1) SUPPLIED
. r 2
-t k&@) - .~ —— — ——— ——— — ) i — — =1 B
\/ - L
9.414 [239.13]
9.789 [248.65]
1.45 [36.76] (APPROX WHEN RET.)
7.45 [189.16] (APPROX WHEN EXT.) -
REV] DESCRIPTION DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION
UNLESS OTHERWISE SPECIFIED
STANDARD TOLERANCE AD&D SPHERICAL PRODUCTS A
UNLESS OTHERWISE SPECIFIED POP-LINK™ / 6" BALL END TELESCOPIC POST
2 PLACE DEC. + .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
TOTAL ASSEMBLED WEIGHT 3 PLACE DEC. + 005 CHECKED __ DATE
0 Ibs. 11.6 ozs. 4 PLACE DEC. % .0005 iH(EFE;EETSS‘ZE | D éi’;?rOVNED— DATE
ANGLES £ 10 | e T - PL-TPOST6IN-BL
8 7 6 5 4 3 I 2 I 1



@.500 [§12.70]

3.497 [12.61]
®1.000 [25.40]

©@.9595 [@24.37]

M10x1.5 - 6g
i
N R S A TTREntonD . uouk
I A
ez = | Wiy i
rh c
M10x1.5 THD HEX JAM NUT
M6-1x8mm LG. HALF DOG 18-8 STAINLESS (1) SUPPLIED
18-8 STAINLESS S.H.S.S.
(1) SUPPLIED
-
1.83 [46.60] (APPROX WHEN RET.)
7.83[199.00] (APPROX WHEN EXT.)
—1.113 [28.26]
N °
i
@.990[25.15] +— +—— — —— — f——lklf—f——————————————————————
\_/ :
9.414 [239.13]
9.789 [248.65] -
REV] DESCRIPTION DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION
UNLETSSNOTHERWT'SE SPEC‘F‘ED AD&D SPHERICAL PRODUCTS A
STANDARD TOLERANCE POP-LINK™ / 6" THREADED TELESCOPIC POST
2 PLACE DEC. + .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
3 PLACE DEC. + .005 CHECKED DATE
TOTALOPIiSEIT?LZED bl 4 PLACE DEC. =+ .0005 [|2HEET SIZE ‘ D_approvep___ DaTE
5. -26 ozs. T o | No. oF sHEETS PART No.
ANGLES £ 10 |SHEer N PL-TPOST6IN-THD

8 \ 7 6 5 4& 4

3 N 2 N

1



2.829 [71.85]

2.00 [50.78]
PL-HLINK Ir
US Pat No. 9353906
MADE IN THE U.S.A.
ADandD.COM
)
!
?.9595 [$24.37] ~
<
Q
REV| DESCRIPTICN DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION
UNLESS OTHERWISE SPECIFIED AD&D SPHERICAL PRODUCTS
IR AR A POP-LINK™/ 2" HYPERLINK
2 PLACE DEC. + .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
3 PLACE DEC. + 005 CHECKED DATE
TOTAL ASSEMBLED WEIGHT 4 PLACE DEC + 0005 SHEET SIZE ‘D APPROVED DATE
0lbs. 1.5 ozs. ’ - No. OF SHEETS PART No. PL-HLINK2IN
ANGLES + 17 [SHEET No. 3
8 4 ‘ 2 ‘ 1




8 3 2 1
4.828 [122.63]
4,00 [101.56] e
S
2.00 [50.78] 2.00 [50.78] =
<
s
\ PL-HLINK i ™
HENAN US Pat No. 9353906 il AN
/ MADE IN THE USA. i/ Y
/ ADandD.COM i Wy
e
N
) ©.9590 [24.36]
N
(o))
<
Q.
REV| DESCRIPTION DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. | DESCRIPTION
UNLESS OTHERWISE SPECIFIED AD&D SPHERICAL PRODUCTS
g gl st POP-LINK™/ 4" HYPERLINK
2 PLACE DEC. + .03
. DRAWND.BIDDINGERDATE 3/31/17
TOTAL ASSEMBLED WEIGHT 3 PLACE DEC. + 005 |SCAETULL CHECKED DATE/ {
0lbs. 2.4 ozs. 4 PlACE DEC. + 0005 |SHEET SZE |D ARPROMED. DATE e
ANGLES + 1 | e © PL-HLINK4IN
8 3 { 2 { 1




6.827 [173.41]
6.00 [152.34]

—

A
J
A
/
A
A
J/

. PL-HLINK ™ N N
+ 1 US Pat No. 9353906 il > il > Hi—
/ MADE IN THE US.A 3/ Y4 %

ADandD.COM

[
\
\
[
\
[
\

2.00 [50.78] 2.00 [50.78] 2.00 [50.78] — 4

p—y
(e}
~
s
@.9595 [@24.37] §
(S
REV| DESCRIPTION DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION
UNLESS OTHERWISE SPECIFIED AD&D SPHERICAL PRODUCTS
STANDARD TOLERANCE
UNLESS OTHERWISE SPECIFIED POP-LINKTM/ 6" HYPERLINK
2 PLACE DEC. + .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
3 PLACE DEC. + 005 CHECKED DATE
TOTAL ASSEMBLED WEIGHT SHEET SIZE | D SHESKED S DATE
0 Ibs. 3.3 ozs. 4 PLACE DEC. * .0005 No. OF SHEETS PART No
ANGLES + 1 |snEer no. * PL-HLINKG6IN

8 \ 7 6 5 4& 4 3 ‘ 2 ‘ 1



8 7 6 5 ﬂ7 4 3 2 1
8.826 [224.19]
8.00 [203.12]
2.00 [50.78] 2.00 [50.78] 2.00 [50.78] ~—2.00 [50.78]
RN TN TN TN TN
D s S H H HIS-
MADE IN THE US.A. ) ) J J
N 4 | NIz |
o
Q
?.9595 [@24.37]
REV| DESCRIPTICN DATE DWN CHK

REVISIONS

MATERIAL:

PATENT PENDING

BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No.
UNLESS OTHERWISE SPECIFIED

ADandD.com

STANDARD TOLERANCE

UNLESS OTHERWISE SPECIFIED

DESCRIPTION

AD&D SPHERICAL PRODUCTS
POP-LINK™/ 8" HYPERLINK

2 PLACE DEC. .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
TOTAL ASSEMBLED WEIGHT 3 PLACE DEC. % 005 |Jfor qop | GHECKED DATE
0 |bs. 4.2 ozs. 4 PLACE DEC. + .0005 T IéZPRRrO\{\]EoDi .
ANGLES £ 1 |SHEET No, " PL-HLINKS8IN
8 7 6 5 4& 4 3 ‘ 2 ‘ 1




10.826 [274.97]

10.00 [253.90]
2.00 [50.78] 2.00 [50.78] 2.00 [50.78] 2.00 [50.78] 2.00 [50.78]

N N N

\ \
> >
) i +

)
/
)
J
)
)
)

)
/

\ PL-HLINK
T smem ]
ADandD.COM

~N_ ~
~

~N_ .~
~

~N_ ~
~

4
\
\
[
\
4
\
4
\
4
\

py
O
~
@.9595 [@24.37] ~§
™~
(o)}
<
LSS
REV| DESCRIPTION DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION
UNLESS OTHERWISE SPECIFIED AD&D SPHERICAL PRODUCTS
oS IR isE A POP-LINK™/ 10" HYPERLINK
2 PLACE DEC. + .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
3 PLACE DEC. + .005 CHECKED DATE =
TOTAL ASSEMBLED WEIGHT SHEET SIZE ‘D APPROVED OATE
0 Ibs. 5.1 ozs. 4 PLACE DEC. * .0005 No. OF SHEETS PART No
ANGLES + 1 |sHEe N - PL-HLINK10IN

8 \ 7 6 5 4& 4 3 ‘ 2 ‘ 1




8 6 4 1
12.825 [325.75]
12.00 [304.68]
———2.00 [50.78]%2.00 [50.78]$2.00 [50.78] 2.00 [50.78] 2.00 [50.78]%2.00 [50.78] ——
RN RN RN RN RN N TN
PL-HLINK T i ] i
+) o EEREm ) )y iy ) ) iy
| 4 NP4 | | N4 \/
3
®.9595 [@24.37] ~
@
S

REVISIONS

MATERIAL:

PATENT PENDING

ADandD.com

BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No.
UNLESS OTHERWISE SPECIFIED

STANDARD TOLERANCE

UNLESS OTHERWISE SPECIFIED

DESCRIPTION

AD&D SPHERICAL PRODUCTS
POP-LINK™/ 12" HYPERLINK

2 PLACE DEC. .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
Olbs. 6 ozs ¢ PLACE DEC. 0005 K g IéARFSFO NEoDi TN
ANGLES £ 1" |SHEET No. * PL-HLINK12IN

8 6 4 { 2 { 1




14.824 [376.53]
13.99 [355.46]

2.00 [50.78] 2.00 [50.78] 2.00 [50.78]%2.00 [50.78]%2.00 [50.78]%2.00 [50.78]$2.oo [50.78]

PLHLINK m m m m m m m
353906 1A 1A A 1A 1A A 1A
A 1 1 1 ) H H

N N B N N e N B N I N 7

j—
(o)
~
=
?.9595 [(24.37] )
Q
REV| DESCRIPTION DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. | DESCRIPTION
UNLESS OTHERWISE SPECIFIED AD&D SPHERICAL PRODUCTS
g gl st POP-LINK™/ 14" HYPERLINK
2 PLACE DEC. * .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
TOTAL ASSEMBLED WEIGHT 3 PLACE DEC. + .005 CHECKED DATE __
0 Ibs. 6.9 ozs. 4 PLACE DEC. % .0005 ?H(I;:FE;EETSS‘ZE D éi‘;ﬁrOVNEOD— DATE
ANGLES e R L — " PL-HLINK14IN

8 7 6 5 4& 4 3 { 2 { 1



1/4-20 THD HEX JAM NUT
18-8 STAINLESS
(1) SUPPLIED

625 [15.88] HEX—

1/4-20 UNC - 2A

M10x1.5 - 6H ¥ .so\<
e — |
PL-14-20THDAD
US Pat No. 9353906
MADE IN THE U.S.A.
\ _ADandD.cam__
~—.500 [12.70]—~
1.625 [41.28]
REV] DESCRIPTION DATE DWN CHK
REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION
UNLESS OTHERWISE SPECIFIED AD&D SPHERICAL PRODUCTS
SNDARD QRERANCE POP-LINK™/ 1/4-20 THD ADAPTER
2 PLACE DEC. + .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
TOTAL ASSEMBLED WEIGHT 3 PLACE DEC. + 005 SUEET SIZE ‘D CHECKED DATE
0bs. 42 oz + PLACE DEC. = .0005 No. OF SHEETS éZESFOVI\IEgi Ferp——
ANGLES + 1° SEIEET No. ‘PL'14'20THDADPT
8

7 6 5 4& 4 3 { 2 { 1




M10x1.5 - 6H ¥ .66

@.9595 [24.37]

I
I
U

M10x1.5 THD HEX JAM NUT
18-8 STAINLESS (1) SUPPLIED

@.497 [12.61]

N7/

M10x1.5 - 6g

\___
——.952 [24.19] —
~—1.00 [25.40] HEX—~ 1.988 [50.49]
3.000 [76.20]
3.500 [88.90]
N
pyed il
o emmER )
g REV| DESCRIPTION DATE DWN CHK
REVISIONS
MATERIAL:
\ / ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION
STANDARD TOLERANCE POP-LINK™/ 90° BALL ADAPTER
UNLESS OTHERWISE SPECIFIED
S Pt bec. + ooy [PATTIT EomERSERTT
TOTAL(;%%SEMIB;IIED WEIGHT 2 blace DEC’ L 0‘005 SHEET SIZE \D APPROVED ____ DATE _____
S. 1. 0Zs. . + .
ANGLES + 1 SnlﬁEE(JTFNsoﬁEETS PART No. PL-90°BALLADPT
8 \ 6 5 4& { 2 { 1



O D
M8x1.25 X 16MM LG SHCS
(1) SUPPLIED
3 =
_He ;, B I |
F L
o™
= C
S,
LN
<
N | ||
— = < - ~.
|
|
‘ 5 <
I
M10x1.5 - 6H ¥ .52
B
|
|
)
> y - N\
T
g
o ()1
=
ﬁ | | REV| DESCRIPTION DATE DWN CHK
; I____I REVISIONS
MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. DESCRIPTION
UNLESS OTHERWISE SPECIFIED AD&D SPHERICAL PRODUCTS A
TAN T N
NS OTuEue e D POP-LINK™ / BRACKET ADAPTER
I o ot e
TOTAL ASSEMBLED WEIGHT o F SHEET SIZE | D aPpROVED DATE
0 lbs. 1.25 ozs. 4 PLACE DEC. £ .0005 No. OF SHEETS PART No.
ANGLES £ 1 |SHEET No. PL-BKADPT

8 \ 7 6 5 4& 4 3 ‘ 2 ‘ 1



8 \ 7 \ 6 5 €7 4

T0

DO NOT USE THIS ADPATER
MOUNT CAMERA OR LIGHTING.

ONLY USE WITH SENSOR BRACKETS

1.250 [31.75]

S.H.S.S. GRADE 8 (1) REQ'D
INSTALLED FROM FACTORY

.625 [15.88] HEX. M10x25mm LG.

Tl A
IMADE!IN THE U.S
hiiADSNAD-com

.534 [13.56]

‘ 1.784 [45.31]

5/16-18 THD X .70 DEEP
M8x1.25 THD X .70 DEEP

THIS HOLE WILL ACCEPT
EITHER SIZE ALL THREAD

REV| DESCRIPTION DATE DWN CHK

REVISIONS

MATERIAL:

PATENT PENDING

BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No.
UNLESS OTHERWISE SPECIFIED

STANDARD TOLERANCE

UNLESS OTHERWISE SPECIFIED

ADandD.com
DESCRIPTION

AD&D SPHERICAL PRODUCTS
POP-LINK™/ EXTRUSION ADAPTER

>

2 PLACE DEC. + .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
TOTAL ASSEMBLED WEIGHT S PLACE DEC.  + .005 o rr oo D oK —— e ——
0 Ibs. .85 ozs. 4 PLACE DEC. * '0005‘ No. OF SHEETS PART No. PL-EXTADPT
ANGLES + SHEET No.
8 \ 7 6 5 4& 4 I 2 I 1



.796 [20.23]

M8-1.25x8mm LG.
S.H.S.S. 18-8 STAINLESS
(1) SUPPLIED

®.9595 [24.37]

M10x1.5 - 6H V¥ .32

REV| DESCRIPTION DATE DWN CHK

REVISIONS

MATERIAL:

PATENT PENDING

BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No.
UNLESS OTHERWISE SPECIFIED

ADandD.com

STANDARD TOLERANCE

UNLESS OTHERWISE SPECIFIED

2 PLACE DEC. + .03

DESCRIPTION

AD&D SPHERICAL PRODUCTS |,
POP-LINK™/ POWERBALL

SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
3 PLACE DEC. + .005 H DATE __
TOTAL ASSEMBLED WEIGHT SHEET SIZE | D e s oare
0 Ibs. .64 ozs. 4 PLACE DEC. % .0005 No. OF SHEETS PART No. py
ANGLES £ 1 [SHEer No. PL-PBALL
8 5 4& 4 { 2 { 1



8.000 [203.20]

>

4.000 [101.60]

o~

O\
)
7/

PL-HDPL-DSTAND1

17
W\
<

((

=l
=) (=]
= =
& =
— =
(=1 [l

=F)

\

N\

7
)
Qv//
st

)

POP-LINK ®,

M10-1.5 X 16MM LG S.H.C.S.
18-8 STAINLESS STEEL
(1) SUPPLIED

M10-1.5 X 12MM LG F.H.C.S.
18-8 STAINLESS STEEL
(1) SUPPLIED

RE\ DESCRIPTION DATE | DWN CHK

REVISIONS

MATERIAL:

l—— 250 [6.35]

I- ADandD.com
PATENT PENDING

500 [12.70]
(APPROX.)

BREAK ALL SHARP CORNERS

MARK DETAILS WITH PART No. DESCRIPTION
UNLESS OTHERWISE SPECIFIED

STANDARD TOLERANCE PL-HDPL-DSTAND1
UNLESS OTHERWISE SPECIFIED
RUBBER FEET 2 PLACE DEC + .03
: - SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17

(4) SUPPLIED AND INSTALLED 3 PLACE DEC.  # .005 |Giorr gy | GHEDKED DATE

4 PLACE DEC. % .0005 APPROVED___ DATE ——

| No. OF SHEETS PART No.
ANGLES £ 10 |SEET o,

PL-HDPL-DSTAND1
6 5 4& 4 3 I 2 1




M8-1.25 X 14MM LG SHCS

(1) SUPPLIED

FOR USE WITH HDPL-SERIES

M8 1.D X M16 O.D. FLAT WASHER

(1) SUPPLIED

2.17 [55.12]

b—————290 [73.66]—J

FOR USE WITH HDPL-SERIES BASE

M8-1.25 X 12MM LG SHCS

(1) SUPPLIED
FOR USE WITH PL-SERIES BASE

A

MFG. RATING: 220 LBS.

|

|
= 1.95 [49.53] ~ |
RE DESCRIPTION [ DATE | DWN CHK
REVISIONS
3.61 [91.58] (APPROX) MATERIAL:
ADandD.com
PATENT PENDING
BREAK ALL SHARP CORNERS
MARK DETAILS WITH PART No. | DESCRIPTION
UNLESS OTHERWISE SPECIFIED
STANDARD TOLERANCE PL-HDPL-MAG1
UNLESS OTHERWISE SPECIFIED
2 PLACE DEC. * .03 SCALE: FULL DRAWND.BIDDINGERDATE 3/31/17
3 PLACE DEC. # .005 CHECKED DATE
4 PLACE DEC. % .0005 ?HOEFE;EHSS‘ZE |D g;zﬁofg— DATE
o, — ;
ANGLES £ 1 |SHEET ho. PL-HDPL-MAG1
6 4 I 2 I 1




	The Essentials
	PL-BASE
	PL-KNK
	PL-BALLBASE

	The Posts
	PL-SPOST-BK
	PL-SPOST-THD
	PL-SPOST5IN-BK
	PL-SPOST5IN-THD
	PL-SPOST7IN-BK
	PL-SPOST7IN-THD
	PL-TPOST2IN-BK
	PL-TPOST2IN-BL
	PL-TPOST2IN-THD
	PL-TPOST6IN-BK
	PL-TPOST6IN-BL
	PL-TPOST6IN-THD
	The Hyperlinks

	PL-HLINK2IN
	PL-HLINK4IN
	PL-HLINK6IN
	PL-HLINK8IN
	PL-HLINK10IN
	PL-HLINK12IN
	PL-HLINK14IN
	The Adapters
	PL-14-20THDADPT
	PL-90BALLADPT
	PL-BKADPT
	PL-EXTADPT
	PL-PBALL
	The Accessories
	PL-HDPL-DSTAND1
	PL-HDPL-MAG1



